111.

112,

113.
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(SCIENCE)

Which of the following represents the

correct electronic configuration of
nitrogen ?

114.

E
A) 2,8,7 e
B) 2,5
) 2,8,5
(D) More than ‘one of the above
(E) None of the above
D 115.

The magnetic field lines around a
straight current carrying conductor
are
(A) Ellipses
(B) Concentric circles
(C) Parallel lines:
(D) More than oi_i:e of the above
(E) None of ’r_hé above
Food cans are éoated with tin and

e ' 116.
not with zinc because

(A) zinc has a higher melting point

(B) zinc is costlier than tin

(C) zinc is more reactive than tin

(D) More than oxie of the above

(E) None of the above

42

The force required to maintain an

object at a constant velocity is

) )

(A) Frictional force ' %
E -11?-:

(B) Gravitational force

(C) Net force

(D) More than one of the above

(E) None of the above

Which of the following terms does

not represent electrical power in a
circuit ?

(A) IR?

(B) IR

(C) VI

(D) More than one of the above

(E) None of the above

Which of the following is not 5

physical change ? EE
e

(A) Burning of coal

(B) Melting of ice

(©) Dissolving salt in water

(D) More than one of the above

(E) None of the above



111. ﬁq%{mﬁ%ﬁﬁémqﬁ@ma;;@ 114.

(SCIENCE)

RIS B R e
® 2,87 I
B) 2,5 -
©) 2,8,5
(D) ITF & & TH A s
(E) %R F ¥ 1S Tt
112, @mﬁ@m@w%ﬂm
T & Y A Ty
(4) 0 fig
(B) HHiw 5w N

D) SR wrr
)
(E) ST F ¥ 9 3

Qo
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(8) o 51 S 27 2 s i 4
(B) T fom & wem 3 o)

(D) 3w 3 & v @ arferh
(E) 394 3 Q v e
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11e.

TRt g 1 oo 3 o T

o st =@ 2

(A) ¥ §q

(B) TRETHYY T

(C) ¥ 5

(D) IEw # ¥ wF @ st

(E) ITF & & 9§ 7

frefafad & & wH-u1 g fedt afe

o wf =1 w8 @ e ¢
EE

s G

(B) I°R

(€ VI

(D) Swdw # ¥ T 4 3t

(E) 39daq # ¥ IS T&I

faffea § @ w-w1 Wids aied

: EGE

L S

(A) HITET ST

(B) stk w1 TR

(C) i & T e
(D) I A AT F S
(E) I A & P
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@%E 120. The Phenomenon due to which the
0w e ) 3]
(A) Newton L it g FPnesis e %E‘
) (A) Dispers; -
(B) Joule © persion
o (B) Scattering
(C) Watt L8

(C) Reflection
(D) More than one of the above

o0 (D)
(E) None of the above
X,

ereld,

: (E) None of the above

\J

118. Which of the followmg methods is

More than one of the above

fothd

. :
suitable for preventing an iron frying 191, Which of the following constitutes
pan from rusting ?

food chain ?
(A) Applying paint’“ﬁ'i: (A) Grass, goat and human l
(B) Applying grease;; (B) Grass, wheat and mango
(C) Applying a coa‘:clxlig of zinc (C) Goat, cow and elephant !

(D) More than one of the above (D) More than one of the aboye

(E) None of the above

<5 o
{

: (E) None of the above qEﬁ'.‘g

119. Which of the fouowmg is a plant 122. What is the process of changing a

honnonc ? f ", J EUE Substancf: directly from solid to gas
J
) E e called ?

|

(A) Gibberellin

™y . "“\n:

)y
f

A Evaporation
(B) Auxin

@) Melting |
© Cytokinin

©) gublimation '
(D) More than one of the above o) More than one of the above
(Y
(E) None of the ab%%:é @ None of the above r

-}-‘ ) ‘;ﬁ‘
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© i
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(E) méaﬁﬁﬁﬁéq—gf
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(A) Ue @I

(B) I\ T (5

() ﬁﬁﬁmm

(D) S9dad # A wh § AN
() e @ A

119, Frefefiad i & F7-an T T E ?
;:.*“-: _EE‘%:_E‘
(a) fretfes = B
(B) 3ffas
(©) TEefpfm OO

D) v & & o @ AT
®) 3w & § ¢ e

1 )

120. 98 9 fgs $o AR frer feas

[CPALE

(A) T T e

(B) SEhTYT % Wehivi
(C) SehTRT T G
(D) I # & uF & tferp
(E) Sudw & § g T
. fefele 3 & -1 @ fEe

(a) =T, ¥R 3T EH
(B) §wE, Mg af
(C) R, T IR et
(D) e & ¥ TH A I
(E) S9g # ¥ PIE T

gfshdaT 41 FEAml 8 ?

(A) STSHIRIOT

(B) e

(C) I

(D) I # A O ¥ Al
(E) 9w # A i T
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T T W ——



3 ’ The study of the inheritance of traits
123.

B

ok

EE

in humans is called
(A) Herpetology--
(B) Heredity

(C) Paleontology

(D) More than one of the above

(E) None of the "a'bove

124, what is the corhi‘ﬁon name of

calcium hydroxide ?
(&) Baking soda’
(B) Slakeq ﬁme;
(€©) Lime water};"':?‘:
(D) More than’one of the above

(E) None of the aboye

125,

Carbgop dio:dde;i{éé.ter and energy
takes place ip f %%’r%
(&) Chloroplas’?fﬁ o
(B) Cytoplasm

(© Mitochond%é

D) More than.:';;;e of the abgye

) None of thé,_a{bove

11y MIV/M~2024—65'/K

127,

128.

46

A) 1ty

tndg AWay from the normal

Nds towardg the normaj

© 1t Underggeg total interngg
Teflection

(D) More than one of the ahove

(E) None of the abovye l:]j’@

-

[=] £

Uin 30 s. Then he
applies brakes sych that the velocity

of the bicycle comeg down to 4 g1 ;

in
thenext5s. Calculate the acceleratj

on
of the bicycle in both the Cases.

(A) 0.2 ms™ and — 0.4 mg2

(B) 0.8 ms™ angd — 0.6 mg=2
© L 5ms ™2 and 4 mg=
D) More than one of the aboye

) None of the aboye

Whi chof the following is an .
aturated hydrocarb0n P Ty
un$

ERE

More than one of the above
None of the above

11/M
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125,
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1 BT & ST9 TR T R e ¥ wm
3 93w BT 8 ?

(8) T G § T FH IR

(B) IS T i R Febell 2

(C) & o SRR e § T
D) A AT 2
(£) I # & A8 @

126.

127. O fRR Rufy ¥ gE @ g, Tgd 30 TS
¥ 6 ms~! H I T S F T ST

aEfrd =ama & | T 98 30 YR 5%
e & To6 ST Ot B ST e 5 R |
T3iehet i Tfd T 4 ms™! B ST | |
Tl Teufaat o amsfeer & RO it oM
|

(4) 0.2 ms2 3R - 0.4 ms™>

(B) 0.8 ms™ 3R~ 0.6 ms™>

(C) 1.5 ms™2 3R 4 ms2

(D) 39w | ¥ Tk @ a1l

[E) Swdad § & IS e
128. il § ~TT arEqE S
AR
A) mdq
(B) Ff
(C) T

(D) SWw 4 ¥ T sl
(E) Suda & & S e

[ P.T.O.




129.

130.

131.

132.

@ Who discovered the cell for the first

time ?
(A) Anton van Leeuwenhoek
(B) Robert Hooke ‘-

EINE

i

OPad

(C) Rudolf Virchow,
(D) More than one of the above

(E) None of the above

The gap between two neurons is
called as

(A) Synapse
(B) Dendrite
(C) Axon ™
(D) More than one of the above
(E) None of the above

£y
L

The acceleration due‘to gravity
on the surface of the earth is
approximately

(A) 10 m/s?
(B) 9.8 m/s>

© 64m/s® (¢
(D) More than one of the above
(E) None of the abb_vé g%%

L
Which of the following is a
characteristic property of acids ?

(A) Have a pH greater than 7
(B) Turn red Iitmﬁs’ ﬁaper blue
(C) Turn blue litmus paper red
(D) More than onef‘ of the above
(E) None of the ab‘o'r}é
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133.

134.

135.

136.

Lichens are sensitive to which 8
pollutant?

(A) Carbon monoxide

(B) Sulphur dioxide

(C) Methane

(D) More than one of the above

(E) None of the above

Which subatomic particle has
negligible mass ? =z[E

(A) Proton Ea?ff?
(B) Electron
(C) Neutron

(D) More than one of the above
(E) None of the above

Which of the following is not a vector
borne disease ?

(A) Dengue

(B) Malaria

(C) Tuberculosis

(D) More than one of the above

(E) None of the above

What is the work to be done to
increase the velocity of a car from
30 kmh ™ to 60 km h™! if the mass
of the car is 1500 kg ?

o
(A) 156250 Breg
(B) 800 J
(C) 156650 J
(D) More than one of the above
(E) None of the above

14



(A) AT | TS %Frg
B) TgH
(C) &= fa=r -
(D) SHw ¥ ¥ TF ¥ R
(E) mﬁﬁﬁﬁﬁér{f
130. Q= ¥ ¥4 F St Y a9 2
(A) Ir=mia
(B) Igise
(C) THHH

(D) Eqﬁaaﬁ%@@faqﬁm
(E) mﬂﬂﬂﬁ@rﬁq@f

134.

131. ‘Iﬁﬁﬁﬂﬁ%mﬂﬁﬁ&w%mw
ST B EE

(A) 10m/s* i
B) 9.8m/s®

(C) 6.4 m/s> -

D) I & @ o

E) 3w § ﬁé?ﬁ:ﬁ 136.

132, ﬁﬁ%ﬁgaﬁ%ﬁq-m@ggﬁf@
fafre qor 2 ¢
(4) pH 7% R & _
(B) e fergmr St fren F 1
(©) e fergra oy ot @it X @
(D) Iwad #f § wsp & Al
(©) o & & o

o 49
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135.

129. <HIREHT S @9 Ty R 6 7 133. ﬁma@m%m@mﬁa
?

(A) <hTEA AFEERES

(B) HeHI SEITHITE

() #He

(D) ST F & wh ¥ frs
(E) 3w o & A T

o savRIoes 01 S g e 2 g
(A) e Ej
(B) SR CIfe
(C) =gt

(D) = & § = ¥ o

(E) ST # & % 7

Tt § @ wiv-a1 I stfm I
TR 7

(@A)

(B) HafeEn

(C) T&mT

(D) ST H ¥ v R i

(E) Sudw § & =18 T8

¢ SR 1 FHF 1500 e 7, @1
I 1 3T 30 ot ger ! & 60 TRt wer !
T S S [oT¢ 41 SR HET Q0 2

(A) 156250 J - BR
ERE
(B) 800J
(C) 156650 J
(D) SwdEd | @ Al
(B) ST H & 18 T
[ P.T.O.



137.

138.

139.

Butanone is a four-carbon
compound with the funptional group
(A) Aldehyde e
(B) Carbosylic acid (. &
(C) Ketone ‘ .‘

(D) More than one of the above

(E) None of the above

The anther contains

(A) Owvules

¢ 141.

(B) Sepals

(C) Pollen grains
(B8]

(D) More than one of the above

(E) None of the abové'(i‘_-j
Which of the followinéé.fe
environment-friendly practices ?
(A) Switching off unﬁéb’éssaxy lights
[E12[E]
TESE
> (el
(B) Carrying cloth bags-to put
purchases in whﬂe shopping

and fans

(C) Walking to school instead of
getting your mother to drop you

on her scooter

(D) More than one of'the above

[

(E) None of the above. -’

[ )
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140.

142.

What happens when dilute

hydrochloric acid is added to iron

fillings ?

(A) Chlorine gas and iron hydroxide
are produced

(B) Hydrogen gas and iron chloride

3

"

are produced
(C) No reaction takes place
(D) More than one of the above
(E) None of the above

Which of the following statements
about permanent tissues is correct ?

(A) They are only found in young
plants ‘

(B) They lose the ability to divide

(C) They are capable of rapid cell
division

(D) More than one of the above

(E) None of the above

The membrane surrounding the cell

is called

b

R
[

() Cell wall
(B) Cytoplasm

(C) Plasma membrane
(D) More than one of the above
(E) None of the above
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143. According

e acceleration of an object

motion, th :
al to the

is directly prOPDI'f-jC'n

(A) Force acting on the object

(B) Mass of the object
verse of the mass of the object

(C) In
(D) More than one of the above
by
(E) None of the above e
LA [

144. The kidneys in human beings are a

145.

146,

11/MIV/M-2024 05

part of the system for;
(A) Excretion
(B) Nutrition
(C) Respiration
(D) More than one of the above
(E) None of the aboye

_5

e )
s

In which of the foﬂéﬁng sphere,
weather phenomenor: 0CCurs ?
(A) Troposphere (‘

(B) Ionosphere ¥

(C) Stratosphere

(D) More than one:t\:)fthe above

(E) None of the above

The speed of sound is maximum in

which of the following ? EVE
(A) Water Eﬁ%
(B) Air Yy
(C} Steel |

(D) More than one of the above

(E) None of the abo.'ve

52

148.

149.

150.

:i car covers a distance of 200 km in
hours. What is its average speed ?

(A) 100 km/h EYE
(B) 50 km/h CIPALE
(C) 25 km/h

(D) More than one of the above

(E) None of the above

What is the function of meristematic
tissue in plants ?

(A) Protection

(B) Support

(C) Growth

(D) More than one of the above

(E) None of the above

What happens to the gravitational
force between two objects if the
distance between them is doubled ?

%1

5
= l'a'_S-_!

(A) It becomes one-fourth

(B) It quadruples -
(C) It becomes half

(D) More than one of the above

(E)

Wwhich of the following is not a
Characteristic of solids ?

None of the above

(A) Ability to flow easily

(B) Definite shape
€) Molecules closely packed

(D) More than one of the above
£) None of the above
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